Modified Crochet Vision Hat
Original pattern by Marty Miller, Modified pattern by Carlene Paquette

Approximate time: 2 hours

Yarn: Approx 75 g worsted weight yarn

Crochet hook: 5.5 mm

Yarn needle

Note: The hat is made as a series of six wedges, with each wedge starting at the brim and moving towards the crown of the hat.  The wedges gradually decrease in size, which provides the rounded shaping for the hat.  On the last row of the 6th wedge, the starting chain (initial wedge) and 6th wedge are crocheted together.  You then sew the top closed with the final tail and sew in the tail from the starting chain.

	Row
	Description
	Stitch Count

	Hat:
	Begin at side.  Chain 30 stitches.
	30

	Row 1
	Single crochet in 2nd chain from the hook, and each chain across.  Chain 1 and turn.
	29

	Row 2 (RS)
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 22 single crochet.  

Note: Leave one stitch unworked.

Chain 1 and turn.
	6+22=28

	Row 3
	Skip first single crochet, single crochet in the back loop of the next 21 single crochet. Single crochet through both loops of the last 6 single crochet.  

Chain 1 and turn.
	21+6=27

	Row 4
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 20 single crochet.  

Note: Leave one stitch unworked.

Chain 1 and turn.
	6+20=26

	Row 5
	Skip first single crochet, single crochet in the back loop of the next 19 single crochet. Single crochet through both loops of the last 6 single crochet.  

Chain 1 and turn
	19+6=25

	Row 6
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 18 single crochet.  

Note: Leave one stitch unworked.

Chain 1 and turn.
	6+18=24

	Row 7
	Skip first single crochet, single crochet in the back loop of the next 17 single crochet. Single crochet through both loops of the last 6 single crochet.  

Chain 1 and turn
	17+6=23

	Row 8
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 16 single crochet.  

Note: Leave one stitch unworked.

Chain 1 and turn.
	6+16=22

	Row 9
	Skip first single crochet, single crochet in the back loop of the next 15 single crochet. Single crochet through both loops of the last 6 single crochet.  

Chain 1 and turn
	15+6=21

	Row 10
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 14 single crochet.  

Note: Leave one stitch unworked.

Chain 1 and turn.
	6+14=20

	Row 11
	Skip first single crochet, single crochet in the back loop of the next 13 single crochet. Single crochet through both loops of the last 6 single crochet.  

Chain 1 and turn
	13+6=19

	Row 12
	Single crochet through both loops of each of the first 6 single crochet.  Single crochet in the back loop of each of the next 12 single crochet.

Single crochet in the end of the previous 11 rows, work 1 single crochet in the top of the hat.

Chain 1 and turn.   
Note: First wedge is done.
	6+12+12=30

	Wedges 2, 3, 4 and 5
	Repeat rows 3 to 14  to create 4 more wedges
	

	Wedge 6
	Repeat rows 3 to 13 to create 6th wedge.  Then finish with the joining row listed below.
	

	Joining
	With RS facing, hold Row 1 edge to Row 83 edge.  Join edges with a slip stitch through top loops.  Fasten off.  
At the top of the hat, use the final tail to sew through the stitch that forms the top of each wedge (6 stitches total) and sew in tail.  

Sew in the tail from the starting chain.  Hat is complete.
	


Version 2:

Super simple memory version of the above pattern:

· Starting chain: Chain 30
· Initial row: Single crochet in each chain across.  Chain 1 and turn.

· Upward row: Single crochet in first 6 stitches (brim) and back loop of remaining stitches.  Leaving 1 stitch unworked.  Chain 1 and turn.

· Downward row: Skip first stitch, single crochet in back loop of stitches, until 6 stitches remain.  Single crochet through both loops of last 6 stitches.

· Repeat the upward row and downward row until you reach an upward row with: 6 brim stitches (single crochet through both loops), and 12 back loop single crochet.  Then crochet 12 more stitches up the loops at the end of the previous rows.  (6 + 12 + 12 = 30). First wedge is done.

· Repeat the downward row and upward row to create another wedge

· On the 6th (and final) wedge, when you have crocheted the downward row of 13 back loop single crochet and 6 brim stitches (single crochet through both loops), fold the work so that the starting chain and current chain are matched up.  Slip stitch crochet through the top loops of all stitches (6 brim, 12 back loop, 12 end of row stitches) and then fasten off.  

· Use the tail to sew closed the top of the hat.  Sew in the tail from the starting chain.
